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Test 3

Dusty Wilson
Math 083

No Calenlators

No work = no credit.

Warm-ups (1 pt each):

(P-4 _

FAX NO. 206 870 4803 P. 01

gD e e

Name:

Why are nummbers beautiful? [v's like asking why is
Beethoven's Ninth Symphony beautiful. If you don't
see why, someone can't tell you, T know numbers are

beantiful. If they aren't beautiful, nothing is.

Paul Erdds (1913 - 1098)
Hunpggrian mathemalician

2

1.) (2 pts) Given the sets P,  and R below, determine whether the following statements are true

or false.
F={3,57,9,11}

) PcQ i

@=11,2,3,6,9,12, 15}

b) Qa P T
c) 3eP ﬁ
2.) (2 pts) Find: |-5|~ 4*
S -l

—1)

4.) (2 pts) Find the value of the numerical
expression: 54 +[3—(2 - 3)]

= syt {3~k

= S92 (-3)
= I8
|8

R=1{1,2,6,15)

Q) 12eR =

g) Ra(Q T

3.) (2 pts) Simplify: 7a—12 -~ 4a -+ 16

Fen +

5.) (2 pts) Simplify the expression:

B(r +3) — Ta(y + 2)

= R8x42Y m?xy_ }o

PR Pxy 42y

~bX~ Xy 29
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6.) (2 pts) Evaluate the expression 4x + 3y — 7

whenx =3 and y = -2.
D 4G) + B2 -2

= [2 -k -3

—)

8.) (2 pts) Simplify the expression by using the
distributive property and combining like terms.

Y3 —y) +5(x + )N —x(2 - Ty)

= By—71+ Etx + 3‘"?;1 - ?'_a-ffi'Z}X)y

B> 3y ‘:L\/l + ?}'xy
7 [
10.) (2 pts) When x =-1 and y = 2, evaluate:
4ty +y—5x° 15
= 2 2.
FEN QY + 2 - Y0 s
= SLY Ly g Sy o

= Y 4 o 4 ks

)5~

12.) (2 pts) Solve the equation for y:

Sy+3y—4y=10-2

<
i
B

FAX NO. 206 870 4803

7.) (2 pts) Simplify the expression:

T(x+3)+2(9 —x)

- & A R Y.

$x » 39

9.) (2 pts) Circle the true statement(s):

CHIIE

11.) (2 pts) Solve the equation for x:

12x-13=Tx+ 2

S = 15

X =3

13.) (2 pts) Solve fory: 2(y—10)=10+ 2y

Z’)/.-.'UD: “:’f-)-ly
Ao < e

AV TN

P.

02
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14.) (2 pts) Solve fory; 2y +3x=5
2 LY = 5 - B

S 2

5 Y=
/2\

S — X
Y= 2

16.) (2 pts) Solve for x: 4(x + 3) = -5(3x — 10)

=) L—-}){ A Y= - S +

= |9x = 2%

X =72,

18)(2pts) If a=6 and b=8§, yse the
Pythagorean Theorem to find ¢. See the
corresponding figure.

LTy E=

I ¥ bl = o X

| o e

-:.7(;)

19.) (2 pts) Find: 3*- 27

9- <2

2
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15.) (2 pts) Solve for z: %(z +3)=2
= -%(‘t‘*ﬂ )= - Y

7 2T 3=

17.) (2 pts) Solve for b: %(b +4) =%

::,%3'_.?3.1: | — . D
N ﬁkﬁ‘%)cg-_;&

3 Uﬂ"‘VI = o
= ab=-6

Figure for problem (i8.)

20.) (2 pts) Rewrite using exponents:

3-3-3-3-7-7-7

P.

03
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21.) (3 pts) Use the following graph to answer the next three Y4

questions 8

a.) Find the coordinates of point X 4 : P
| -+

(> ,~4)

b.) Plot the point P(5,2.5) 4 -4 -2 o 2 4 8 7
- 3‘
¢.) In what quadrant does the point S(—.?.,—-B) lie? 2K
-8
|
E figure for problem (21.)
22.) (2 pts) Solve for x: —g(l -4x) = -%(Sx +4)
A N - ~
=3 9 (-,}*\UAJx): 9 - 5 LE‘_X‘*LA
S —b Ut = 2w xay
= b+ =lox ¥y K=
23.) (2 pts) Find the rise and the run in moving from point b
F(1.-5) to B (7,5). 6
ai Py’
2 3
'/{D e
Rise: | & Run: -2
-4
24.) (2 pt) Starting at point P, find the coordinates of a 517

possible point £ if the run from 2 to B is -4. (There is more
than one correct result).

Coordinates: ( '“"?31 \Z{) (ﬂ' P’"\/ \}\

25.) (2 pts) Find the distance between the points (1,-11) and (-2.-7).
. _—

D= J (2>, (—3—ki))"

figure for problems (23.) and (24.)

= J3tayt

SN A -



